DATA <- read_csv("DATA.csv")  

#head(DATA, n = 2)

#summary(DATA)

#describe(DATA)

DATA.lm <- lm(engagement2 ~ hedonism + readability, data = DATA)

summary(DATA.lm)

DATA2 <- read_csv("DATA2.csv") 

DATA2.lm <- lm(engagement2 ~ hedonism + readability, data = DATA2)

summary(DATA2.lm)

ggplot(data = DATA, aes(x = readability, y = engagement2)) +

  geom_point(size = 5, alpha = .6) +

  ggtitle("readability effect engagement") +

  labs(x = "readability", y = "engagement") +

  theme(plot.title = element_text(size = rel(1)), 

        axis.text = element_text(size = rel(1)),

        axis.title = element_text(size = rel(1))

  ) +

  geom_smooth(method = lm)

ggplot(data = DATA, aes(x = hedonism, y = engagement2)) +

  geom_point(size = 5, alpha = .6) +

  ggtitle("hedonism effect engagement") +

  labs(x = "hedonism", y = "engagement") +

  theme(plot.title = element_text(size = rel(1)), 

        axis.text = element_text(size = rel(1)),

        axis.title = element_text(size = rel(1))

  ) +

  geom_smooth(method = lm)

ggplot(DATA2, aes(x=hedonism)) +

  geom_histogram() +

  ggtitle("Age in years") +

  theme_bw()

phedonism <- ggplot(DATA2, aes(x = hedonism))

phedonism <- phedonism + 

  geom_histogram() +

  ggtitle("Word reading accuracy") +

  theme_bw()

